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PHILOSOPHY
PAPER - 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All
questions are compulsory.

1.  Which type of fallacy is committed by the following inference ?
The lake is a substance because it is smoking.

(1) Savyabhicara (2) Satpratipaksa
(3) Svarupasiddha (4) Asrayasiddha

2.  Consider the following statements in the light of Husserl’s concept of phenomena and
mark the correct code :
(i) Phenomena is a substantial unity that has real properties, real parts and real changes.
(i) Phenomena is no substantial unity, that has no real properties, known no real parts
and no real changes.
(ii1)) Phenomena have no nature, but only essence.
(iv) Phenomena have no essence, but only nature.

Code :
(1)  Only (i) is true (2)  Only (i1) and (iii) are true
(3) Only (i) and (iii) are true (4)  Only (i1), (ii1) and (iv) are true

3. Which one of the following statements is true with reference to Heidegger ?
(1) Phenomena are what make up being, while being is always the being of some entity.
(2) Phenomena are beyond being, while being is never the being of some entity.
(3) Phenomena are devoid of being, while being is deprived of entity.
(4) Phenomena and being are one and the same.

4.  Match the List — I with List — II and select the correct answer by using the codes given
below :
List - I List - II

(a) They have foundation in nature and are conformity with (i)  Qualities

the real existent things.
(b) They have no reality other than in the minds of men and (i) Ideas of modes

do not claim to be copies of things really existent.
(c) the power which objects have to produce definite ideas (iii) Real idea

in us.
(d) ideas which do not contain in themselves but are (iv) Mixed modes

considered as dependencies is substance.
Codes :
@ (b © @@
(H G Gy @ (@Gv)
(2) @) Gv) @O ()
(3) Gv) (i) @) @)
4 @) Gv) @G @)
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5. In vedic metaphysics even the flowing of water downwards was guided by :
(1) Devata (2) Igvara
(3) Brahma (4) Rta

6.  Consider the following statements with reference to Wittgenstein and mark the correct
code :
(1)  World is totality of facts and not of things.
(i) World is totally of things and not of facts.
(ii1) The meaning of a word lies in its use.
(iv) The use of a word lies in its meaning.

Code :
(1) Only (i) and (iv) are true (2)  Only (i1) and (iv) are true
(3)  Only (iii) and (i) are true (4)  Only (i), (i1) and (iv) are true

7.  Hetvabhasa according to the Nyaya obstructs :
(1) Inference only
(2) Karana of inference only
(3) Either inference or karana of inference
(4) Paramarsa only

8.  Which one of the following statements is in consonance with Gilbert Ryle’s “Ghost in the

Machine” ?

(1) The phrase “there occur mental processes” does not mean the same sort of thing as
“there occur physical processes”.

(2) The phrase “there occur mental processes” mean same sort of thing as “there occur
physical processes.”

(3) Both physical processes and mental processes originate from the same.

(4) Both physical processes and mental processes are created by Ghost in The Machine.

9. Select the correct sequence of Pancavayavinyaya :
(1) Hetu, Pratijna, Upanaya, Udaharana, Nigamana

(2) Pratijna, Hetu, Udaharana, Upanaya, Nigamana

(3) Pratijna, Udaharana, Hetu, Upanaya, Nigamana

(4) Pratijna, Hetu, Udaharana, Nigamana, Upanaya

10. 'We perceive the absence of sabda according to the Nyaya by the sannikarsa known as :

(1) Anupalabdhi (2) Sanyukta Visesanata
(3) Samavaya (4) Samaveta viSesanata
11. Which one among the following is not the characteristic of a sad-hetu according to
Nyaya ?
(1) Paksasattva (2) Vipaksasattva
(3) Paramarsa (4) Sapaksasattva
Paper-11 4 J-03-16
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12.  Which system holds that akasa is of two types ; Lokakasa and alokakasa ?
(1) Bauddha (2) Jaina
(3) VaiSesika (4) Samkhya

13. Consider the Assertion (A) and Reason (R) given below and mark the correct code from
the standpoint of Buddhism :

Assertion (A) : A state of pleasure is a state of suffering.

Reason (R) : Sarvam duhkharm dukham

Codes :

(1) Both (A) and (R) are correct and (R) provides correct explanation of (A).

(2) Both (A) and (R) are correct and (R) does not provides correct explanation of (A).
(3) (A)is false and (R) is true.

(4) (A) and (R) both are false.

14. Consider the following statements with reference to Bertrand Russell’s ‘The Problems of
Philosophy’ and choose the correct code :

(1)  Sense data is described as private.
(i) Sense data is interpreted as public objects capable of existing even if unsensed.
(ii1)) The sensation of hardness ceases to exist if I remove my hand from contact with the

table.
Codes :
(1)  Only (i) is true (2) Only (i) and (ii) are true
(3)  Only (i1) is true (4)  Only (i) and (iii) are true

15. Consider the following statements in the light of Nietzsche’s ‘Will to power’ and choose
the correct answer :

(1) Will to live is the basic principle of life.

(2)  What humans desire is mere self preservation.

(3) Pleasure is the ultimate principle that men normally desire.

(4) Men willingly sacrifice pleasures and incur suffering for the sake of greater power.

16. Which one of the following statements are not true with reference to Hegel ?

(1) Dialectical method begins with an abstract universal concept that gives rise to a
contradiction, both of which are finally reconciled into one.

(2) Truth is a living logical process.
(3) The dialectical movement is the logical self-unfolding of thoughts.
(4) Reality is a homogenous empirical one.
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17. Which one of the following statements is true with reference to St. Augustine and St.
Anselm ?

(1) Both St. Augustine and St. Anselm appealed to authority of the scripture.

(2) St. Anselm appealed to the authority of scriptures where as St. Augustine appealed
to the authority of reason.

(3) Both appealed to the necessary reasons for the truths of the faith.

(4) St. Augustine appealed to scripture, whereas St. Anselm appealed to reasons for the
truths of the faith.

18. Match the List — I with List — II and select the correct answer by using the codes given

below :
List -1 List — II

(a) A mediating entity between the pure concepts and (i)  The Transcendental Unity
the sense perception, something that is pure. of Apperception

(b) The functional unity that manifests itself (i) Transcendental Esthetic
identically and yet with a difference in each of the
categories.

(c) The science of the rules of sensibility is called (1i1) The transcendental schema

(d) The science of the rules of understanding is called (iv) Transcendental analytic
Codes :
@ M (@© @
(L () @) @Gv) @
(2 @ G (@Gv) (i)
(3 Gv) @) @) (@
4 () @) @) (@Gv)

19. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Consider (A) and (R) and select the correct code in the light of philosophy of
St. Augustine.

Assertion (A) : The hierarchy of reality involves degrees of goodness, degrees of being
and degrees of unity.

Reason (R) : Pure evil is the polar opposite of God on the hierarchy.
Codes :
(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.
4) (A) is false, but (R) is true.
Paper-11 8 J-03-16
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20. Consider given Assertion (A) and Reason (R) and then mark the correct option :
Assertion (A) : Hegel calls God the Idea.
Reason (R) : This idea contains within itself the entire logico-dialectical process.
Codes :
(1) (A) and (R) are both true, and (R) provides a correct explanation of (A).
(2)  (A) and (R) are both true, but (R) does not provides a correct explanation of (A).
(3) (A)is false and (R) is true and (R) is an incorrect explanation of (A).
(4) (A)is true and (R) is false and (R) is an incorrect explanation of (A).

21. Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Consider (A) and (R) and select the correct code :

Assertion (A) : Pre-socratic philosophers were Atheists.

Reason (R) : Gods of the pre-socratic philosophers do not interfere with the natural
world.

Codes :

(1) Both (A) and (R) are true, and (R) is the correct explanation of (A).
(2) Both (A) and (R) are true but (R) is not the correct explanation of (A).
(3) (A) is true, but (R) is false.

4) (A) is false, but (R) is true.

22.  'Who among the following pre-socratic philosophers believed in the “Unity of opposites” ?
(1) Heraclitus (2) Anaximander
(3) Xenophanes (4) Parmenides

23. Match List — I with List — IT in the light of Aristotle’s classification of sciences and choose
the correct code :

List - I List — II
(a) Logic (i) Psychology
(b) Theoretical sciences (i)  Politics
(c) Practical sciences (11) Method of inquiry
(d) Productive sciences (iv) Poetics
Codes :

@ () (© (@

(H @ Gy G (@Gv)

(2 @) @ 3G @Gv)

(3) i) @ @Gv) (D)

@4 a) (@ @G (@GQv)
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24. Consider the following statements with regard to Plato’s theory of knowledge and mark
the correct code from below :

(i)  Conjectural knowledge is a kind of sensuous knowledge.
(i1)  Source of belief is sense perception.

(ii1)) Conjucture and belief are grouped under “Opinion”.

(iv) Dialectical knowledge rests on hypothesis.

Code :

(1) Only (i) and (ii) are true.

(2)  Only (i) and (iii) are true.

(3) Only (i) (ii) and (iii) are true.

(4) Only (i) and (iv) are true.

25. The pragmatic test of meaning as “a method of settling metaphysical disputes that
otherwise might be interminable” — is proposed by which one of the following
philosophers ?

(I) C.S. Pierce

(2) William James
(3) John Dewey
(4) Irving Lewis

26. Match the List — I with List — II and select the correct answer by using the codes given
below :

List - I List — II

(1) The identify of indiscernibles (a) Descartes

(i1) Interactionism (b) Spinoza
(iii) Parallelism (c) Berkeley
(iv) Esse est percipi (d) Leibnitz
Codes :

(@ (b () @
(1 i) G @) Gv)
(2) Gy () 3Gv) (1)
3 Gv) @ G (i)
@ (@Gv) Gy 3G (1)
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24, i H FAHEE F TG § FEfaied e W fER ST SR e KT T $el § ¥ e 3w
T TIT HIT

(i)  HIEAHH T FA[H I TH TR & |
(i) Tomare &1 & T TeT § |

(ili) ouT Ue fovara “H” & FUHHE |
(iv) FETcHh 3 TTSRhedT UR STTHTRA Bl € |
HT

(1) e (i) 3R (i) T & |

(2) e (i) AW (iii) T & |

(3) e (i), (ii) 3R (iii) TETE |

(4)  HIA (i) 3N (iv) T E |

25. “AOHMIEE STHEHiaal & FHMEM B Usid % ® § 3T P ST URIEI0T HEwgul § 1=
T AT W — I8 foaR Frefetad o @ 6 Sreife §RT wdiferd & 2

(1) ¥ue. =g ) faferam swg
(3) S e (4) o g

26. T - 1 G — 1 F T g B S T R T 5w S e 5w e s

T

T -1 = - 10
(i) Hfodsal & AR (a) SO
(i) IFdlspaTETE (b) e
(i) FEFTRAE (c) Het
(iv) o g (d) omefsie
T

(=N

(@ (b () @
(1 i) G @ Gv)
(2) Gy () @Gv) (1)
3 Gv) @ G (i)
@ (@Gv) Gy 3G (1)
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27. Consider given Assertion (A) and Reason (R) in Locke’s philosophy and then mark the
correct option as given below :

Assertion (A) : Infants in the womb, according to Locke, have no complicated thought.
Reason (R) : Mind is an empty tablet.

Codes :

(1) (A) is false and (R) is true and (R) provides correct explanation of (A).

(2) (A) and (R) are both true and (R) provides correct explanation of (A).

(3) (A) and (R) are both true and (R) does not provides correct explanation of (A).
(4) (A) is true and (R) is false and (R) does not provide correct explanation of (A).

28. Which one among the following is not a mahavakya ?
(1) Tattvamasi (2) AhamBrahmasmi
(3) Sarvamkhalvidarmh Brahma (4) Ayamatma Brahma

29. Which one of the following has said ‘Immortality is the consumation of the life process
within the ego’ ?

(1) K.C. Bhattacharya (2) Radhakrishnan
(3) Vivekananda (4) Igbal

30. Match the following Lists and choose the correct code :

List - 1 List - 11
(Authors) (Texts)
(a) Tagore (i) East and West in Religion

(b) J. Krishnamurti (ii) Ideas of a nation
(¢) Radhakrishnan  (iii) Total freedom

(d) Ambedkar (iv) My Reminiscenses
Codes :
@ (M (@ @
(L @ @G @) (@4v)
(2 @ @y @ (@Gv)
(3) Gv) @) @O (@)
4 Gv) () @a) ()

31. Which one of the following maintains that ‘Religion is not a creed or a code but an insight
into reality’?

(1) Gandhi (2) Vivekananda
(3) Radhakrishnan (4) Tagore
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27. it % gy § fHw g stfepe (A) S RO (R) W TR e g A fu e el § | gt s
T TIT HIT
ATUHAT (A) : W o TR, TP | 9] i SAfee faar 781 W@ |
HROT (R) : AT ARETSh T o 1A ¢ |
E
(1) (A) oI & 31¥ (R) el & 3T (R), (A) &l Tel A ¢ |
(2) (A) 3R (R) I TEl € 3R (R), (A) i T&l AN E |
(3) (A) 3R (R) I &l & 31T (R), (A) ! el =AM &l ¢ |
(4)  (A) & & 3 (R) Tord & 3% (R), (A) I el AR i ¢ |

28. Trfcfad O 9 =i U TeEes T8 € 2

(1) dHE (2) IESEHH
(3) TEElcERTE (4)  STHTCHTSET
29, fqHfeIfiaa 9 9 T et ¢ o “3raear o1 o Sfia | ffed it wiferat =t aiorfa & 2
(1) & ggrm (2) EFIH
(3) ToEswE=< (4) THAA
30. Il — I 0 e — [ 9 Gafed Y 31K Tel e ol 99 H
T -1 = - 10
() (Tr=2)
(a) TR () < UTs o e Refem

(b) . PO (i) 3MefeAr 3iE T AvH
(c) TUFWH (i) 2ee hied

(d) I (iv) §rE R
he:

(=N

(@ () () (@
H @ @) 3G (@{v)
2 @) @) @ @0v)
3 Gv) @) @) >G)
@ Gv) ©H @G (i)

31. mifoiiad § 9 forger 71 & 6 o @ fagra a1 FSwr 96 ¥ afcs 98 o 9 W STIge

&9
(1) i ) foeEm=<
(3) THIFIT (4) <R
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32. Which one of the following holds the view that_Maya is neither good nor bad but it is
neutral from both ?
(I) Gandhi (2) Tagore
(3) Vivekananda (4)  Sri Aurobindo

33. Who holds that “When you deprive truth of its appearance, it loses the best part of
reality’ ?
(1)  Sri Aurobindo (2) Igbal
(3) Gandhi (4) Tagore

34. ‘A good clockmaker can construct two clocks which will keep such perfect time that they
for ever strike the hours at the same moment.” This position is acceptable to :
(1) Spinoza (2) Leibnitz
(3) Descartes (4) Locke
35. The concept of categories was advocated by :
(i) Kant (i) Kant and Aristotle
(ii1)) Kant and Locke (iv) Kant and Berkeley
Select the correct code in the light of above :
(1) (i1) only (2) (1) only
(3) (v) only (4) (iii) only

36. The ideas imprinted on the senses by God are called real things according to :
(I) Locke )
(3) Hume 4)

Berkeley
Leibnitz

37. The correct sequence of triple transformation in evolutionary theory of Sri Aurobindo is :
(1) Psychic, spiritual and supramental
(2) Spiritual, supramental and psychic
(3)  Psychic, supramental and spiritual

(4) Spiritual, psychic and supramental

38. Which one of the following maintains that ‘What is spoken must be in the first instance

believed’ ?
(I) Radhakrishnan (2) J. Krishnamurti
(3) K.C. Bhattacharya (4) Igbal
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32. ToeAfeiiEd o 9 foheht I 0a & Toh o 7 99 & 7 31 317Uq &7 Il § e € 2
(1) Tt (2) TR
(3) foewE= (4) sfieRrfa=<
33. oo 7 & T “afs 9 1 ST Ui 9 qAAT Yorsh o T ST o T T Ueh Hewaul 3797 &t
SA@e 2
(1) =eRfe=s (2) THIA
(3) Tt (4) T
34. U 3] T AT &1 UH =iedl w1 (HI0T S GehaT & ST SHT % HeW § g |l Bl foh o
B[ I TR Teh & THM &0T § UgH Han 1° I8 fefq Fefataa 8 9 fegen @ied €2
(1) e (2) T
(3) < (4) <
35. Fefeiaa 9 9 fges gRT oo sl STauron 1 999 fhar mn & 2
(i) HE
(i) i R SRE
(iii) T 3R H
(iv) i 3R Fhed
IR o IR H TEl e I TI DT
(1) (i) S (2) (i) Fee
(3) (iv) FaA (4) (i) T
36. fafeiad ® & foraeh 5RT $¥eR gRT Al W) Sifehd Hegal sht Jene Iy el S § 2
(1) % (2) =
(3) ¥\ (4) et
37. el o foaem Mg o oy ST &1 98l %9 &
(1) =, mefcde e AqaHras (2) AT, SAaHME U <
(3) =, ATTHFME T TS (4) AT, I TS AqHAS
38, TreTeifad H § b el & foh S et ST 3§ W gl | 8T = 2
(1) TEFIH (2) . P
(3) HE. Y (4) THAA
J-03-16 17 Paper-11

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

39. Select the correct sequence of the four stages of ‘Theoretic consciousness’ according to
K.C. Bhattacharya :

(1) Objective, Empirical, Spiritual, Transcendental
(2) Empirical, Spiritual, Objective, Transcendental
(3) Empirical, Objective, Spiritual, Transcendental

(4) Spiritual, Transcendental, Objective, Empirical,

40. Match the List — I with List — II and select the correct answer by using the codes given

below :
List - I List — II
(Judgments) (Categories)
(a) Affirmative (1)  Existence — non existence
(b)  Assertoric (i) Limitation
(c) Infinite (11) Necessity — Contingency
(d) Apodictic (iv) Reality
Codes :

(@ (b () (@
1 Gy @ @Gv) (i)
(2) () G @GAv) (1)
3 Gv) @ G (i)
@ (@ @) @Gv) ()

41. Consider given Assertion (A) and Reason (R) and then mark the correct option as given
below :

Assertion (A) : According to Kant Space is an a priori idea.

Reason (R) : The mind possesses power to perceive space and time apriori.
Codes :

(1) Both (A) and (R) are true, and (R) is a correct explanation of (A).

(2) Both (A) and (R) are false.

(3) (A)is true and (R) is false and (R) is not a correct explanation of (A).

(4) (A)is false and (R) is true and (R) is not a correct explanation of (A).
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39. FHI WM & AR TG dar F A TR T b el 567 T T B

(1) Towmafs, smwfes, SRS, RS
(2) AT, A, fomrafe, WicHeT
(3) e, favafe, sefe, WieHes
(4) S, R, fowafs, srwios

40. It — [ & 9T gall — 1 T GAfST HINTT 3R g ST T el T 3T B g el ST Hl

=T
=t - 1 T - 10
(ot (i)

(a) THRHE () S-S

(b) VFHA-TRAE (i) G HEROT

(c) o= (ili)  3TeTdar — e
(d) ﬁ:_'| EE (iv) AT
he:

(@ () (© (@
H @ @ @) (i)
2 @G G Q) @
3 Gv) @H G (i)
@ O @) (>Gv) (3G

41. TS T AFT (A) 3R RO (R) W AR HT 7 A9 KT 70 Fei § T T&l 3 H 991

HIWT

ATHHYT (A) : Hie % 3TTAR I TS AN Fead € |

HTUT (R) : 397 37 FHleT o TegeT i Afod T § UIFHIEH ¢ |
HT

(1) (A) 3R (R) 3HT T & 3T (R), (A) H T& AR |

(2) (A) 3T (R) IHT 7oA & |

(3) (A) W& & 3R (R) T ¢ 31X (R), (A) I T&t A el & |

(4) (A) ToId € 3T (R) Tl & 3R (R), (A) i W&l = Tel ¢ |
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42. Match List — I with List — II and select the correct code as given below :

List - 1 List — II
(Authors) (Texts)
(a) Tagore (1) The Reign of Religion in
Contemporary Philosophy
(b) Gandhi (ii) The Riddle of this World

(¢)  Sri Aurobindo (iii) The Gardener
(d) Radhakrishnan (iv) My Religion
Codes :
@ (b © @@
(L ® @Gy 3G (@Gv)
(2) @) Gv) @G @
3 O G @G Gv)
@ @G Gv) (@O (i)

43. According to Prabhakara Dharma is :
(1) Extrinsic value
(2) Intrinsic value
(3) Both intrinsic and extrinsic value
(4) Pseudo value

44. “If we see a snake, when infact there is only a rope, although it is an illusion, we should
still accept that some kind of snake was there. Otherwise how could we have ever
perceived a snake’ ? This explanation of illusion is offered by the :

(1) Vijnanavada Buddhists (2) Dvaitins
(3) Advaitins (4) Mimamsakas

45. All the following statements are consistent with the Rationalism of Descartes :
Except :
(1) There exists ontological dualism of mind and body.
(2)  Ontological argument is there in favour of existence of God.
(3) Knowledge is constituted of clear and distinct ideas.
(4) The test of truth is correspondence.

46. According to Madhva — Vedanta, all the following propositions are false except :
(I) The ija is a falsification of Brahman.

(2) The jiva is distinct from Brahman but is entirely dependent on Brahman for
everything.

(3) The ija is one with Brahman.
(4) The ija along with jagat is maya.
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42. g — 1 % Gt — 1 ¥ GAfeTd < a2 78 T8 $ ¥ Tel SR A 997 Hh

=t - 1 = - 10
() (Tr=2)
(a) TR () & i dfets 37 F=mmi) e
(b) T (i) 1< Tzea 3 §F aos
(c) sherfe (i) fgMeR
(d) TIFEE  (iv) W e
&<

(=N

(@ () () (@
H @ G 361 (@{v)
2 (@) @Gv) @G) @
3 @ (@) (@) (@{v)
@ @@ @Gv) (@) (i)

43. U o IFER 49§
(1) e (2) SR g
(3) AR X ST god ST (4) oo gog
44. I Y UH QU HI @A ¢ S€ih ar&dd Y g8l helel U W] €, JA I8 Uh 9 €, &9 [ ot 98
THR AT DM 15 T TR T T F&l o7 371 FY el il GIiTd &l 2° W i Jg AT
ferareh gRT U Bl TE 2
(1) fosems! s (2) waEw
(3) Il (4) g
45, TEfAREd § 9 U & STeTreT T U SHIE & FgaTs o GHMET €
(1) ¥ 3R IXR T TAHers 5 Bar g |
(2) IR F e o U H HATeTR FHI0T B ¢ |
(3) T g ud gy T | e € |
(4) T D I FEIRTer € |
46. T 9T % 3R, W U & g ffeiad @t o 19 ¢
(1) St ST o [T ¥ |
(2) S ST 9 9o ¥ o Uik g o olT quiey: sewiisi ¢ |
(3) Sie T ST & WY aRIeT & |
(4) ST % 919 Se g € |
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47. Match the List — I with List — II and select the correct answer by using the codes given

below :
List -1 List - II
(a) Sat Khyati (1) Madhva — Vedanta
(b) Viparita Khyati (i) Prabhakara Mimarmsa
(c) Akhyati (iii) Sarkhya

(d) Abhinava anyathakhyati (iv) Kumarila Mimamsa
Codes :
@ b © @
() G @v) G @)
(2) @Gv) (i) (@) (>
(3) Gy @) @av) (i)
4) G @v) ) (@)

48. The word Sarhsara in Vedanta means :
(I) A state of the world which is anadi but santa.
(2) The private life of individuals
(3) Married life and living with children
(4) Beginningless cycle of birth and death

49. Consider given Assertion (A) and Reason (R) and then mark the correct option as given
below considering Samkhya metaphysics.

Assertion (A) : All material effects are the modification (Parinama) of Prakrti.

Reason (R) : The effects pre-exist in the eternal Prakrti and come out of it at the time of

creation.
Codes :
(1) (A) is false and (R) is true and (R) provides correct explanation of (A).
(2) (A) and (R) are both true, and (R) provides correct explanation of (A).
(3) (A) and (R) are both true, and (R) does not provides correct explanation of (A).
(4) (A)is false and (R) is true and (R) does not provide correct explanation of (A).

50. Cosider given Assertion (A) and Reason (R) and then mark the correct option as given
below :

Assertion (A) : Vyapti is known through Manasapratyaksa.

Reason (R) : Vyapti is not a quality.

(1) (A) is false and (R) is true and (R) is not a correct explanation of (A).
(2) Both (A) and (R) are true, and (R) is a correct explanation of (A).

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is an incorrect explanation of (A).
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47. gt — 1o gl - 11 % 91 gafera ¢ 3R] A few e et 3 & e 3 o T

T -1 = - 10
(a) E =AM (i) TEIRE
(b) fawig-=nta (i) VTR HET
(c) T (i) A=A
(d) 3T == AT (iv) FHHMRCT =T

&

(=N

(@ () (© (@
(H @G Gv) () @
@ Gv) @) @) >G)
3 @@ @ @) (i)
@ (@) @Gv) @G) @)

48. OET H GHR & A
(1) TR I T T ST 3 fobe] AT € |
(2) AT T ST SieE
(3) SertEes Stie 3T FT o T SteH- e
(4) Sfia 3R TRO1 1 SIS 056

49. U T MWHT (A) 3R BROT (R) W GER HINT SR G deo@lHmar W a6r & g¢ el
3T N I DI
AR (A) : T ifeTeh o Wi T TRoTH € |
HROT (R) : F &l Feg wepfa & qoi g & <7 gt & a9 308 e e e |
&<
(1) (A) ToAd & 3T (R) T & 3R (R), (A) I Tel AT Tqd T ¢ |
(2) (A) 3R (R) THI W& ¥ 3R (R), (A) T Tel ARAT Y& FAT & |
(3) (A) 3R (R) THI W& € 3R (R), (A) T Tel ARAT Y& el AT |
(4)  (A) Tod & 3T (R) el € 3R (R), (A) i Tt AT TRqd Fal AT ¢ |

50. MW(A)@TW(R)WWWW%&TWWﬁ@WﬁTW@?
ATUHAT (A) : ST T A TG UeTeT I &1 & |
HROT (R) : SN T 7 07 Fal & |
E T
(1) (A) Toa & 3T (R) el ¢ 3R (R), (A) i Tl AT 61 € |
(2)  (A) 3R (R) 3HT T&l & 3R (R), (A) i T&l AN E |
(3) (A) IR (R) AT TAAE |
(4) (A) 3R (R) 3HT L € 3T (R), (A) Tl Toid AR E |
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